£102E] BRSP4 EHERUREFERS

FhFRERT BR-EB

= HERREXF VY RZ2YT L
HERFA > 74— F (hre—1)
LFEMRERARN—-7< T IA—R
#9E : 2023 (4705) #5911 ~14A
(GEZED
FiE AR R
EAE] K4 FE EieH
8 ks B |amEs| fFE | A Rk B |wdmEt| % | 8 ok & Bz | fEE
100m RE EA al 3| 1041 | @30 2 2| 105 | (+39) | s 1039 | (+40)| 8 FL1E.
AR R
100m sk sk | 4| 4| 1086 | (+39)| 4 120
200m wm o eA | 41| 2158 | 22| 4 T138.
AR R
200m sk sk | 4] 3| 2195 | (23| 6 146
1500m ey gz | 4 | 1| 35208 1 3:49.90 2
1500 sEN gwE | 2 | 2 | 35073 1 3:49.24 1 TLE,
A " e - 128
1500m B ow=#% | 3| 3| 35972 2 3:59.50 11
5000m i Ew | 3| 1| 14:00.33 2 13:54.86 3
5000 wi B2 | 3| 2 | 14:00.42 6 14:07.13 12 Ti28.
" i o o $148
5000m wak 2 | 4| 2| 142172 1 14:13.79 15
10000m xE EE | 4 1| 29:2024 43 |20
10000m s g | 2 1| 29:15.88 40 |mi7z| 118
10000m ek —tr | 4 2 | 28:2855 6 |mem
N-73597 wit 5% | 4 1:05:20 20
N-7379Y EE B3} 4 1:05:29 23 11H
N-73597 mE X2 | 3 1:06:24 38
3000mSC | WF f&Em | 4 | 1| 90841 2 9:01.02 5
3000mSC |  ®M A 2| 2| 85404 1 8:38.44 2 |noree| T
" o - R148
3000mSC NE B 4| 3| 85919 1 8:36.09 1 | NGR
400mH gl g | 4| 1| 5569 5 138,
400mH HE 2k 3| 3| 5160 1| pB 51.75 4 R148
IR 1% o | 3 703 | (+23) ] s 138
FiE AR R
EB K4 =k ESyiA=|
@ |2 K4 2% | & ‘tlﬂ,ﬁ‘ K4 2 | @ |2 w4 i
ZH £A 4 1 SHRE 3 1
HE ) 4 2 H*E s 4 2
BRI K 3 3 ZH EA 4 3 Z11H.
4% 100mR 2 i
Fi=PITI 5 4 4 i EE 4 4 ®128
i ak 2 it gt fE Eila aEt| fBE
mis 5 | 2 41.19 3
BP9 5= IEf
wa 50 | 6
k52 49| 2
74—ILFK 1123




551020 BIRFAERE FHRNEFERS

S R + s
5LFRARFAFE ER—E
25 BRRFA VALY T L
HREREFA 74— K (hr<w—1)
TFEMAFAEN-—7T7Y IR
B : 2023 ($M5) £5A811H~14R1

[%F386]
b= AR B R
EE K4 FE
%ﬂ‘ ks ‘ )28 ‘mmm 3 ,‘fﬁ‘ Rk ‘ =8 ‘%ﬂwﬁfﬁ % | & ok & B
800m g AN M2 5 1:59.28 2

il B & | IBLL
we 2 |1




£102E] BRSP4 EHERUREFERS

FhFRERT BR-EB

25 BHRRERFF XLV T L
HBEREA 74— K (hr<w—8)
TFEMAFAEN-—7T7YIT—R
HA : 2023 ($f15) £58118~14H
ESRE)
¥ AR B R
R K& FE ESyiicg=|
#H Bk B |esms| fmE | 8 R JE: 0N G B Bt B Bz | fEE
100m EHE 2 111 12.02 +2.4 2 2 12.04 +0.3 5 11.83 +3.3 8 211\
100m Bis X 21 3 11.84 +3.8 2 1 12.28 -1.3 7 HEROR
12
100m Il E 3] 4 11.67 +3.6 1 DNS H
200m EHE 2 1] 2 24.58 +4.8 3 2 2453 +4.2 2 24.44 +4.7 5 2130
200m Bl & 3 3 DNS R R
200m as = 2] 4 24.64 +3.9 2 1 24.45 +5.3 3 24.18 +4.7 3 145
400m BE BE 4] 1 56.44 2 2 58.40 5 . sk
400m &F VEH 41 2 56.93 3 1 56.17 2 55.80 3 118, &
400m A0 BE 1] 3 55.99 3 1 56.66 5 56.30 5 128
800m Y7 $HIBE 4] 1| 21260 1 1| 2:10.49 1 2:07.84 1 . sk
800m KO A& 3 2 2:15.29 3 13H. #*
14
800m Hil EBE 2| 4| 21465 3 H
= b3 13.95 - 13.89
100mH ZH FRET 2|1 2.1 2 2 +1.1 7 110,
100mH hiE BB 3| 4 13.98 -0.1 2 1 14.01 +1.0 6 HEROR
12
100mH Rl sy 41 5 14.16 2.4 1 1 13.55 +1.0 3 13.41 +2.5 3 &
400mH g R 111 1:03.00 6
400mH HAR T 41 2 59.64 1 57.65 1 PB T138,
" nh e ' : H148
400mH I %8 2| 3| 10436 8
EMRBL fEaXR T 1 5.86 +3.0 5 11H
=Bk KX #R 2 12.73 +1.6 1
130
=Bk EeR T4 1 12.61 +1.6 4
Tz R R
pEd=| K% FE ESyiig=|
a | e K4 e K4 2 | @ |2 w4 Iy
& 3 1 g k# 3 1 g k& 3
BiE =i 2 2 iR 1 2 i . 1
e e 1 3 B =M 2 3 B = 2 |11m.
4x100mR 2 .
g k& 3 4 N N ot 2 4 IR B 2 #R128
Ny S 2 Bk AR fE ks AR fEE
EE xR 1 46.82 2 46.38 3
&F VEH 4 1 a0 BR 1 1 a0 BR 1
BE BE 4 2 L Z & 1 2 i . 1
a0 mE | 1 3 B % 4 3 £F V&R 4 | z13m.
4 x400mR 2 .
NE 3 4 £F VEH 4 4 A I 4 R14H
= #E 2 ACEk aE| HE FCER R fEE
" Z& 1 3:46.78 2 3:43.05 1
Eile! B e | IBLL
wae 74| 3
FZv o 57| 2
74— K 17| 5
%iE BB 4 |1




